

## REMARKS ON NON EXPLOSION THEOREM FOR STOCHASTIC DIFFERENTIAL EQUATIONS

BY KIYOMASA NARITA

### §1. Introduction.

In this paper, we give sufficient conditions in order that the solutions of the stochastic differential equations cannot explode. The results are improvement of author's previous one [6], since the concavity condition is not imposed on the function which appears in the restriction on the growth of the drift and the diffusion coefficients.

In §2, using the method of Liapunov functions, we obtain a key lemma. And, by applying the lemma, we prove a generalization of Hasminskii's theorem [3] and an analogue of Wintner's theorem [1], [2] which gives continuability of the solutions of ordinary differential equations. In §3, we give another direct proof of the analogue of Wintner's theorem, so that the smoothness condition on the function which appears in the restriction on the growth of the drift coefficient is weaker than that given by the method of Liapunov functions.

First of all we introduce notations and definitions. Let  $R^d$  denote Euclidean  $d$ -space. For  $x \in R^d$  and  $y \in R^d$ , let  $\langle x, y \rangle$  be the inner product of  $x$  and  $y$  and let  $|x|$  be the Euclidean norm of  $x$ . For a  $d \times d$ -matrix  $M = (m_{ij})$ , define  $|M| = \left( \sum_{i,j=1}^d m_{ij}^2 \right)^{1/2}$ . We shall denote by  $C^{1,2}([0, T] \times R^d)$  the family of scalar functions defined on  $[0, T] \times R^d$  which are twice continuously differentiable with respect to  $x \in R^d$  and once with respect to  $t \in [0, T]$ . Let  $(\Omega, \mathbf{F}, P)$  be a probability space with an increasing family  $\{\mathbf{F}_t; t \geq 0\}$  of sub- $\sigma$ -algebras of  $\mathbf{F}$  and let  $w(t) = (w_i(t))$ ,  $i=1, \dots, d$ , be a  $d$ -dimensional Brownian motion process adapted to  $\mathbf{F}_t$ . Consider the stochastic differential equation

$$(1.1) \quad dX(t) = b(t, X(t))dt + \sigma(t, X(t))dw(t),$$

where  $b(t, x) = (b_i(t, x))$ ,  $i=1, \dots, d$ , is a  $d$ -vector function and  $\sigma(t, x) = (\sigma_{ij}(t, x))$ ,  $i, j=1, \dots, d$ , is a  $d \times d$ -matrix function, which are defined on  $[0, \infty) \times R^d$  and Borel measurable with respect to the complete set of the variables. Equation (1.1) is equivalent to the system of  $d$  equations

$$(1.1)' \quad dX_i(t) = b_i(t, X(t))dt + \sum_{j=1}^d \sigma_{ij}(t, X(t))dw_j(t), \quad i=1, \dots, d.$$

---

Received July 7, 1981

Throughout this paper, we assume the following conditions:

(1.2)  $b(t, x)$  and  $\sigma(t, x)$  are continuous in  $(t, x)$  for any  $T > 0$ ,  $b(t, x)$  and  $\sigma(t, x)$  satisfy the local Lipschitz condition with respect to  $x \in R^d$  if  $t \leq T$ .

As is well known, the stochastic differential equation (1.1) with the initial condition  $X(t_0) = x_0 \in R^d$  ( $t_0 \geq 0$ ) has a pathwise unique solution for  $t < e(t_0, x_0)$ , where  $e(t_0, x_0) = \lim_{n \uparrow \infty} e_n(t_0, x_0)$  and  $e_n(t_0, x_0) = \inf \{t \geq t_0; |X(t)| \geq n\} \wedge n$  (cf. [6]). The random time  $e(t_0, x_0)$  is called the explosion time of the solution of (1.1) with the initial condition  $X(t_0) = x_0$ . The following remark enables us to understand the meaning of the explosion time  $e(t_0, x_0)$  (see [4; § 2, Chap. IV] and [6, § 3]).

*Remark.* If  $b(t, x)$  and  $\sigma(t, x)$  satisfy (1.2), then

$$\lim_{t \uparrow e(t_0, x_0)} |X(t)| = \infty \text{ for } e(t_0, x_0) < \infty, \text{ almost surely.}$$

We are interested in the question whether the explosion occurs or does not. We shall use the differential generator

$$L = \frac{\partial}{\partial t} + \sum_{i=1}^d b_i(t, x) \frac{\partial}{\partial x_i} + \frac{1}{2} \sum_{i,j=1}^d a_{ij}(t, x) \frac{\partial^2}{\partial x_i \partial x_j}$$

associated with the stochastic differential equation (1.1), where  $a(t, x) = (a_{ij}(t, x))$  is a  $d \times d$ -matrix defined by  $a(t, x) = \sigma(t, x)\sigma(t, x)^*$  (\* means the transpose).

**§ 2. Liapunov functions.**

In the explosion problem, the Liapunov function approach provides an effective method. To begin with, we prove a key lemma which will yield the main theorem to us.

LEMMA. Let  $b(t, x)$  and  $\sigma(t, x)$  satisfy (1.2) and suppose for each  $T > 0$ , there exist positive numbers  $c = c_T$  and  $r = r_T$ , and there exist a function  $U = U_T \in C^{1,2}([0, T] \times R^d)$  such that

$$(2.1) \quad LU(t, x) \leq c \quad \text{for all } t \leq T \text{ and } |x| \geq r$$

and

$$(2.2) \quad \lim_{|x| \rightarrow \infty} \inf_{0 \leq t \leq T} U(t, x) = \infty.$$

Then  $P(e(t_0, x_0) = \infty) = 1$  for all  $t_0 \geq 0$  and  $x_0 \in R^d$ .

*Proof.* Assume that there exists some  $(t_0, x_0)$  such that  $P(e(t_0, x_0) \leq T_0) > 0$  for some  $T_0$ . In the following, we take a sample such that  $e(t_0, x_0) \leq T_0$ . For simplicity of the notation we put  $e = e(t_0, x_0)$ . Let  $T > T_0$  be arbitrary and be fixed. Then we can take positive numbers  $c = c_T$ ,  $r = r_T$  and a function  $U = U_T$  in the hypothesis. By Remark in § 1, we notice that  $|X(e-)| = \infty$  for such a sample and hence put

$$\rho = \sup \{t > t_0; |X(t)| = r\}.$$

Then Ito's formula concerning stochastic differentials implies that

$$U(t, X(t)) - U(\rho, X(\rho)) = \int_{\rho}^t LU(s, X(s)) ds + M(t) - M(\rho)$$

for all  $\rho \leq t < e$ , where

$$M(t) = \int_{t_0}^t \langle \text{grad } U(s, X(s)), \sigma(s, X(s)) dw(s) \rangle.$$

Notice that  $M(t) = z(\phi(t))$ , where  $z(t)$  is a new Brownian motion process and  $\phi(t) = \int_{t_0}^t |\sigma(s, X(s))|^2 ds$  (see McKean [5; Problem 1, § 2.9]). Then we get by (2.1) that

$$U(t, X(t)) - U(\rho, X(\rho)) \leq c(t - \rho) + z(\phi(t)) - z(\phi(\rho))$$

for all  $\rho \leq t < e$ . Let  $t$  tend to  $e$  in the above equation. Then it follows from Remark in § 1 and (2.2) that

$$\begin{aligned} \infty &= \lim_{t \uparrow e} U(t, X(t)) - U(\rho, X(\rho)) \\ &\leq c(e - \rho) + \liminf_{t \uparrow e} z(\phi(t)) - z(\phi(\rho)) \\ &< \infty, \end{aligned}$$

which is a contradiction. Hence the proof is complete.

The following theorem is a generalization of Hasminskii's result [3, p. 113].

**THEOREM 2.1.** *Let  $b(t, x)$  and  $\sigma(t, x)$  satisfy (1.2) and suppose for each  $T > 0$ , there exist positive numbers  $c = c_T$  and  $r = r_T$ , and there exist a nonnegative function  $V = V_T \in C^{1,2}([0, T] \times R^d)$  and a nondecreasing, differentiable function  $\beta = \beta_T: [0, \infty) \rightarrow [0, \infty)$  such that*

$$(2.3) \quad LV(t, x) \leq c\beta(V(t, x)) \quad \text{for all } t \leq T \text{ and } |x| \geq r.$$

$$(2.4) \quad \lim_{|x| \rightarrow \infty} \inf_{0 \leq t \leq T} V(t, x) = \infty$$

and

$$(2.5) \quad \int_0^{\infty} \frac{du}{1 + \beta(u)} = \infty.$$

Then  $P(e(t_0, x_0) = \infty) = 1$  for all  $t_0 \geq 0$  and  $x_0 \in R^d$ .

*Proof.* Let  $T > 0$  be arbitrary and be fixed. Then, let  $c = c_T$  and  $r = r_T$  be positive numbers and let  $V = V_T$  and  $\beta = \beta_T$  be the functions in the hypothesis, respectively. We set

$$f(v) = \int_0^v \frac{du}{1 + \beta(u)} \quad \text{and} \quad W(t, x) = f(V(t, x)).$$

Then we see that  $W \in C^{1,2}([0, T] \times R^d)$  and so

$$\begin{aligned}
 LW(t, x) &= (LV(t, x))f'(V(t, x)) \\
 &\quad + \frac{1}{2} |\sigma(t, x) * \text{grad } V(t, x)|^2 f''(V(t, x)) \\
 &= \frac{LV(t, x)}{1 + \beta(V(t, x))} \\
 &\quad + \frac{1}{2} |\sigma(t, x) * \text{grad } V(t, x)|^2 \left[ \frac{-\beta'(V(t, x))}{(1 + \beta(V(t, x)))^2} \right] \\
 &\leq c
 \end{aligned}$$

for all  $t \leq T$  and  $|x| \geq r$ , since (2.3) holds and since  $\beta$  is nondecreasing by the assumption. Further, for any  $t \leq T$ ,

$$W(t, x) \geq f(\inf_{0 \leq t \leq T} V(t, x)),$$

since  $f$  is nondecreasing by the definition. Then we obtain by (2.4) and (2.5) that

$$\inf_{0 \leq t \leq T} W(t, x) \longrightarrow \infty \quad \text{as } |x| \rightarrow \infty.$$

Therefore,  $W(t, x)$  satisfies (2.1) and (2.2) and Lemma applies if we take  $U_T = W(t, x)$  for each  $T > 0$ . Hence the proof is complete.

Hasminskii's theorem is a special case of Theorem 2.1, where  $V = V_T$  satisfies (2.3) for all  $t \leq T$  and  $x \in R^d$  with the function  $\beta = \beta_T(u) = u$  such that (2.5) holds obviously. In particular, if we take  $V = V_T = |x|^2$  in Theorem 2.1, then we obtain the following restriction on the growth of the coefficients in order that  $X(t)$  cannot explode.

**COROLLARY.** *Let  $b(t, x)$  and  $\sigma(t, x)$  satisfy (1.2) and suppose for each  $T > 0$ , there exist positive numbers  $c = c_T$  and  $r = r_T$ , and there exist a nondecreasing, differentiable function  $\beta = \beta_T: [0, \infty) \rightarrow [0, \infty)$  such that*

$$(2.6) \quad 2\langle x, b(t, x) \rangle + |\sigma(t, x)|^2 \leq c\beta(|x|^2)$$

for all  $t \leq T$  and  $|x| \geq r$ , where  $\beta$  satisfies (2.5). Then,  $P(e(t_0, x_0) = \infty) = 1$  for all  $t_0 \geq 0$  and  $x_0 \in R^d$ .

**EXAMPLE.** Suppose that (cf. Yershov [7, Theorem 5.2])

$$(2.7) \quad |b(t, x)|^2 + |\sigma(t, x)|^2 \leq C(1 + |x|^2) \log(1 + |x|)$$

with a constant  $C > 0$  for all  $t \geq 0$  and  $x \in R^d$ . Then we see that

$$\begin{aligned}
 2\langle x, b(t, x) \rangle + |\sigma(t, x)|^2 &\leq |x|^2 + |b(t, x)|^2 + |\sigma(t, x)|^2 \\
 &\leq C[|x|^2 + (1 + |x|^2) \log(1 + |x|)]
 \end{aligned}$$

with a constant  $C' > 0$  for all  $t \geq 0$  and  $x \in R^d$ . Therefore, if (2.7) holds, then (2.6) holds, where  $\beta = \beta_T(u) = u + (1 + u) \log(1 + u^{1/2})$  satisfies (2.5), and hence

Corollary will apply.

In the above Theorem 2.1 and Corollary, the concavity condition is not imposed on the function  $\beta = \beta_T(u)$ , which improves author's previous results [6; Theorem 2.2, Corollary].

The following result corresponds to an analogue of Wintner's Theorem of continuability of solutions of the ordinary differential equation  $dX(t)/dt = b(t, X(t))$ .

**THEOREM 2.2.** *Let  $b(t, x)$  and  $\sigma(t, x)$  satisfy (1.2) and suppose for each  $T > 0$ , there exist positive numbers  $c = c_T, c' = c'_T$  and  $r = r_T$ , and there exist a nondecreasing, differentiable function  $\beta = \beta_T: [0, \infty) \rightarrow (0, \infty)$  such that*

$$(2.8) \quad |b(t, x)| \leq c\beta(|x|) \quad \text{for all } t \leq T \text{ and } |x| \geq r,$$

$$(2.9) \quad |\sigma(t, x)|^2 \leq c' \quad \text{for all } t \leq T \text{ and } |x| \geq r$$

and

$$(2.10) \quad \int_r^\infty \frac{du}{\beta(u)} = \infty.$$

Then,  $P(e(t_0, x_0) = \infty) = 1$  for all  $t_0 \geq 0$  and  $x_0 \in R^d$ .

*Proof.* For each  $T > 0$ , let  $c = c_T, c' = c'_T$  and  $r = r_T$  be the positive numbers and let  $\beta = \beta_T$  be the function in the hypothesis, respectively. We set

$$U(t, x) = \int_r^{|x|} \frac{du}{\beta(u)} - kt \quad (k \equiv c + c'/2r\beta(r))$$

for all  $t \leq T$  and  $|x| \geq r$ , and extend it smoothly to  $|x| < r$ . Then it is easy to see from (2.8) and (2.9) that  $U \in C^{1,2}([0, T] \times R^d)$  satisfies

$$\begin{aligned} LU(t, x) &= -k + \frac{\langle x, b(t, x) \rangle}{|x|\beta(|x|)} + \frac{|\sigma(t, x)|^2}{2|x|\beta(|x|)} \\ &\quad - \frac{1}{2} \left[ \frac{\beta(|x|) + |x|\beta'(|x|)}{|x|^3\beta^2(|x|)} \right] |\sigma(t, x) * x|^2 \\ &\leq 0 \end{aligned}$$

for all  $t \leq T$  and  $|x| \geq r$ . Therefore, we can get the conclusion by Lemma since (2.10) holds.

Such functions as  $U(t, x)$  and  $V(t, x)$  which appear in lemma and theorems of this section are said to be *Liapunov functions* of  $X(t)$ .

**§ 3. Another proof of Theorem 2.2.**

In this section, we give another direct proof of Theorem 2.2 without using the method of Liapunov functions. In the proof, the smoothness condition on the function  $\beta = \beta_T$  of Theorem 2.2 can also be weakened.

**THEOREM.** Assume all the conditions of Theorem 2.2 except that the differentiability condition on  $\beta$  is replaced by the condition such that  $\beta$  is continuous. Then,  $P(e(t_0, x_0)=\infty)=1$  for all  $t_0 \geq 0$  and  $x_0 \in R^d$ .

*Proof.* Assume that there exists some  $(t_0, x_0)$  such that  $P(e(t_0, x_0) \leq T_0) > 0$  for some  $T_0$ . In the following, we take a sample such that  $e(t_0, x_0) \leq T_0$ . For simplicity of the notation we put  $e = e(t_0, x_0)$ . Let  $T > T_0$  be arbitrary and be fixed. Then we can take positive numbers  $c = c_T$ ,  $c' = c'_T$  and  $r = r_T$ , and a continuous function  $\beta = \beta_T$  in the hypothesis. By Remark in §1, we notice that  $|X(e-)| = \infty$  for such a sample, and hence we put  $\rho = \sup\{t; |X(t)| = r\}$ . Then we have by (1.1)' that

$$X_i(t) = X_i(\rho) + \int_{\rho}^t b_i(s, X(s)) ds + M_i(t) - M_i(\rho)$$

for all  $\rho \leq t < e$  ( $i = 1, \dots, d$ ), where

$$M_i(t) = \sum_{j=1}^d \int_{t_0}^t \sigma_{ij}(s, X(s)) dw_j(s).$$

By the time substitution rule (see [5; Problem 1, §2.9]), we see that  $M_i(t) = z_i(\phi_i(t))$  for a new Brownian motion process  $z_i(t)$  and  $\phi_i(t) = \sum_{j=1}^d \int_{t_0}^t \sigma_{ij}^2(s, X(s)) ds$ . Then (2.9) implies that  $\phi_i(t) \leq c'(T - t_0)$  for all  $t_0 \leq t < e$ , and hence  $|M_i(t) - M_i(\rho)| \leq \sup_{t_0 \leq t \leq \phi_i(e)} |z_i(t) - z_i(\phi_i(\rho))| \equiv k_i < \infty$  ( $i = 1, \dots, d$ ). Thus, we have,

$$|X_i(t)| \leq |X_i(\rho)| + \int_{\rho}^t |b_i(s, X(s))| ds + k_i$$

for all  $\rho \leq t < e$ , which yields

$$|X(t)| \leq dr + k + cd \int_{\rho}^t \beta(|X(s)|) ds \quad (k \equiv k_1 + \dots + k_d)$$

for all  $\rho \leq t < e$ , since (2.8) holds and since  $|x| \leq |x_1| + |x_2| + \dots + |x_d| \leq d|x|$  for  $x = (x_1, x_2, \dots, x_d) \in R^d$ . Set  $u(t) = dr + k + cd \int_{\rho}^t \beta(|X(s)|) ds$ . Then we see that  $u(\rho) = dr + k$ ,  $|X(t)| \leq u(t)$  and  $u'(t) = cd \beta(|X(t)|)$  for all  $\rho \leq t < e$ , where  $u'(t)$  is the sample derivative of  $u(t)$  and is continuous. Since  $\beta$  is nondecreasing by the assumption, we get

$$u'(t) \leq cd \beta(u(t)), \quad \rho \leq t < e.$$

Divide the both sides of the above equation by  $\beta(u(t))$ , which is possible since  $\beta$  is positive by the assumption, and then integrate from  $\rho$  to  $t (< e)$ . Then, we obtain,

$$\int_{dr+k}^{u(t)} \frac{du}{\beta(u)} \leq cd(t - \rho)$$

and therefore

$$\int_{dr+k}^{1X^{(t)}1} \frac{du}{\beta(u)} \leq cd(e-\rho)$$

for all  $\rho \leq t < e$ . Let  $t$  tend to the time  $e$  in the above equation. Then, the left-hand side of the above equation becomes infinity since  $|X(e-)| = \infty$  and since (2.10) holds, while the right-hand side is finite, which is a contradiction. Hence the proof is complete.

ACKNOWLEDGEMENT. The author would like to thank Professor M. Motoo for suggesting explosion problems, and for many useful conversations. The author would also like to thank S. Watanabe for kind advices through his letter.

## REFERENCES

- [ 1 ] T.A. BURTON, A continuation result for differential equations, Proc. Amer Math. Soc. **67** (1977), 272-276.
- [ 2 ] P. HARTMAN, Ordinary differential equations, Wiley, New York, 1964.
- [ 3 ] R.Z. HASMINSKII, Stability of differential equations in the presence of random disturbances (In Russian), Nauka, Moscow, 1969.
- [ 4 ] N. IKEDA AND S. WATANABE, Stochastic differential equations and diffusion processes, Kodansha, Tokyo, 1981.
- [ 5 ] H.P., JR. MCKEAN, Stochastic integrals, Academic Press, New York, 1969.
- [ 6 ] K. NARITA, No explosion criteria for stochastic differential equations, J. Math. Soc. Japan **34** (1982), 191-203.
- [ 7 ] M.P. YERSHOV, On the weak compactness of continuous semi-martingales (In Russian), Teo. Veroyatnost. i Primenen, **24** (1979), 91-105.

DEPARTMENT OF MATHEMATICS  
 KANAGAWA UNIVERSITY,  
 ROKKAKUBASHI KANAGAWA-KU  
 YOKOHAMA 221, JAPAN